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Q Pm Tm \ Centrifugal
> » | Compressor
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Flow Rate* Temperature
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. Speed of
Sample Line / Gas Rotation

Chromatograph*

* Flow Rate Measurement and Gas Sample may be
on suction or discharge side. Suction side is
recommended.
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Relative Temp Pressure Fuel Flow
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program javad

implicit none

real::dt,dx,sum,c,mass,d,L,PO,T,F,time,x,AA,BB,CC,delta

integer::i,j,k,q,r,s,v,0
real,allocatable::m(:,:),p(:,:),PP(:)
d=0.5

L=5000

P0=5.*10.**6.

mass=424.628 1106.157

R=287

T=300

f=0.008

dt=10

dx=10.

g=L/dx

r=40.*60./dt

c=348.5 Isqrt(1.*R*T)
allocate(m(1:q,1:2),p(1:9,1:2),pp(1:q))
open(10,file='inlet-mass-flow.txt')
open(20,file="presser.txt')

doj=1,9
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P(j,1)=PO
m(j,1)=0.0
end do
P(1,2)=PO
doi=1,r
Iwrite(*,*) i*dt
if (i*dt.le.600) then
m(q,2)=0.0
else if (i*dt.ge.600.and.i*dt.le.1800) then
m(q,2)=mass
else
m(q,2)=0.0
end if
doj=2,q
P(j,2)=P(j,1)
end do
s=0
do
s=s+1
lwrite(*,*)s
do j=g-1,1,-1
m(j,2)=m(j+1,2)+(dx/c**2.)*(P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt)
! write(*,*)i*dt,m(j,2), P(j,2)
! pause
end do
! pause
! write (*,*) m(q,2)
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doj=1,9-1
x=P(j+1,1)
do 0=1,100

PP(J+1)=x- ((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)+(x-
P(j,2))/dx+(f*c**2./(4*d))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2)))/(1./dx-
(f*c**2./(4.*D))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))/(x+P(j,2))**2.)

! write(*,*)j,P(j,2)
! pause

! P(J+1,2)=-dx*((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/2.*dt+P(j,2)/dx-
(f*c**2./4*d)*(m(j+1,2)+m(j,2))*abs(m(j+1,2)-m(j,2))/(x+P(j,2)))

! AA=1./dx
! BB=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)

! CC=(f*c**2./(4.%d))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))+BB*P(j,2)-
P(j,2)**2./dx

! delta=BB**2.-4.*AA*CC
! P(j+1,2)=(-BB+sqrt(delta))/2.*AA
! if (P(j+1,2)<0) then
! P(j+1,2)=(-BB-sqrt(delta))/2.*AA
! end if
! write(*,*)j,P(j,2)

! pause

I write(*,*)i*dt,o0,j, abs(PP(j+1)-x)
if (abs(PP(j+1)-x)<=1) then
exit
else
x=PP(j+1)

end if
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end do
I write(*,*)i*dt,j,P(j,2)
end do
Ilpause
sum=0.0
dov=2,q
sum=sum-+abs(P(v,2)-PP(v))
end do
write(*,*)i*dt,'sum=', sum
Ilpause
if (sum.le.50) then
exit
else
dov=2,q
P(v,2)=PP(v)
end do
end if
end do
Iwrite(*,*)'ali’
dov=1,q
P(v,1)=P(v,2)
m(v,1)=m(v,2)
end do
write(10,*)i*dt, m(1,2)*3600*3.14*D**2./4
Iwrite(*,*)'Time=', i*dt, m(1,2)*3.14*D**2./4*3600.
write(20,*)i*dt, p(500,2)/10**6.
end do
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end program javad
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program javad

implicit none
real::dt,dx,sum,c,mass,d,L,PO,T,F,time,x,AA,BB,CC,delta,AAA,BBB
integer::i,j,k,q,r,s,v,0
real,allocatable::m(:,:),p(:,:),PP(:)
d=0.5

L=5000

P0=5.*%10.**6.

mass=424.628 1106.157

R=287

T=380

f=0.009

dt=10

dx=10

g=L/dx

r=60.*60./dt

c=sqrt(1.8*R*T)1348.5
allocate(m(1:q,1:2),p(1:9,1:2),pp(1:q))

open(10,file='inlet mass.txt')
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open(20,file="pressurel.txt')
open(30,file="pressurel0.txt')
open(40,file="pressure20.txt’)
open(50,file="pressure40.txt')
open(60,file="pressure50.txt')
doj=1,q
P(j,1)=PO
m(j,1)=0.0
end do
P(1,2)=P0
doi=1,r
Iwrite(*,*) i*dt
if (i*dt.le.600) then
m(q,2)=0.0
else if (i*dt.ge.600.and.i*dt.le.1800) then
m(q,2)=mass
else
m(q,2)=0.0
end if
do j=2,q
P(j,2)=P(j,1)
end do
s=0
do
s=s+1
Iwrite(*,*)s
do j=q-1,1,-1
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m(j,2)=m(j+1,2)+(dx/c**2.)*(P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt)

! write(*,*)i*dt,m(j,2), P(j,2)

! pause
end do
pause
! write (*,*) m(q,2)
doj=1,9-1
x=P(j+1,1)
do 0=1,100
AAA=2 *(c**2.)*(m(j+1,2)+m(},2))*(m(j+1,2)-m(j},2))/dx
BBB=(c**2.)*((m(j+1,2)-m(j,2))**2.)/dx

PP(J+1)=x- ( (m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt) +(x-P(j,2))/dx
+(f*c**2./(4*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))/(x+P(j,2)) &

& +2.*%(c**2.)*(m(j+1,2)+m(j,2))*(m(j+1,2)-m(j,2))/(dx*(x+P(},2))) -
(c**2.)*((m(j+1,2)+m(},2))**2.)*(x-P(},2))/(dx*(x+P(j,2))) **2. )/ &

& (-AAA/(x+P(j,2)**2.)-BBB*((x+P(j,2))**2.-2* (x+P(j,2)* (x-
P(j,2)))/(x+P(j,2))**4.+1./dx-
(F¥c**2./(4.*D))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2))**2.)

! write(*,*)j,P(j,2)
! pause

! P(J+1,2)=-dx*((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/2.*dt+P(j,2)/dx-
(fXc**2./4*d)*(m(j+1,2)+m(j,2))*abs(m(j+1,2)-m(j,2))/(x+P(j,2)))

I AA=1./dx
! BB=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)

! CC=(F*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))+BB*P(j,2)-
P(j,2)**2./dx

! delta=BB**2.-4.*AA*CC

! P(j+1,2)=(-BB+sqrt(delta))/2.*AA
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! if (P(j+1,2)<0) then

! P(j+1,2)=(-BB-sqrt(delta))/2.*AA

! end if
! write(*,*)j,P(j,2)
! pause
I write(*,*)i*dt,o,j, abs(PP(j+1)-x)
if (abs(PP(j+1)-x)<=1) then
exit
else
x=PP(j+1)
end if
end do
I write(*,*)i*dt,j,P(j,2)
end do
Ipause
sum=0.0
dov=2,q

sum=sum-+abs(P(v,2)-PP(v))
end do
write(*,*)i*dt,'sum=', sum
Ilpause

if (sum.le.10000) then

exit

else

dov=2,q

P(v,2)=PP(v)

end do
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end if

end do

Iwrite(*,*)'ali’

dov=1,q

P(v,1)=P(v,2)

m(v,1)=m(v,2)

end do

write(10,*)i*dt, m(1,2)*3600%3.14*D**2./4
lwrite(*,*)'Time=", i*dt, m(1,2)*3.14*D**2./4*3600
write(20,*)i*dt, p(1,2)/10**6.
write(30,*)i*dt, p(80,02)/10**6.
write(40,*)i*dt, p(250,2)/10**6.
write(50,*)i*dt, p(280,2)/10**6.
write(60,*)i*dt , p(1000,2)/10**6.

end do

end program javad
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program javad
implicit none

real::dt,dx,sum,c,mass,d,L,PO,F,time,x,AA,BB,CC,delta,A,Pout,P1,density,initmass,f0,f1,f2,h,z0,z
1,22,23,24,25,26,j0,j1,j2,j3,j4,j5,mf_new

real::A1,A2,A3,A4,A5,A6,Pr,Tr,Pc,Tc,Znew,AAA,BBB,CCC,ddIta,TO,RO
integer::i,j,k,q,r,s,v,0,branch,xcomp,sign,ii
real,allocatable::m(:,:),p(:,:),PP(:),Z(:),T(:,:)

real::etaisen,etamech,etadr,qq,nn,sigma,lhv,head,head_new,md,td,mf,power,delta2,b1,b2,b3,
b4,b5,b6,pd,Cp,Tsur,Poutlet

Cp=2254
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Tsur=300

h=40

d=0.5

A=3.14*d**2 /4.

L=10000
PO=4e6
Pout=3.8e6
R0O=518.3
ITO=300
f=0.008
dt=50
dx=25.
g=L/dx

r=6600./dt

density=0.648 |PO/R*T
mass=300000*density/(3600.*A)

Ic=348.5 Isqrt(1.*R*T)

allocate(m(1:q,1:2),p(1:q,1:2),pp(1:9),Z(1:q),T(1:q,1:2))

open(10,file='pipel-mass-flow1.txt')
open(20,file="pipel-mass-flow10.txt')
open(30,file="pipel-mass-flow20.txt')
open(40,file='pipel-mass-flow30.txt')
open(50,file="pipel-mass-flow50.txt')
open(60,file="pipel-pressl.txt')
open(70,file="pipel-press10.txt’)
open(80,file="pipel-press20.txt’)

open(90,file="pipel-press30.txt')
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open(100,file="pipel-press(50).txt')
open(110,file="pipe2-mass-flow(50+1).txt')
open(120,file="pipe2-mass-flow70.txt')
open(130,file="pipe2-mass-flow80.txt")
open(140,file="pipe2-mass-flow90.txt")
open(150,file="pipe2-mass-flow(100).txt')
open(160,file="pipe2-press(50+1).txt')
open(170,file="pipe2-press70.txt')
open(180,file="pipe2-press80.txt')
open(190,file="pipe2-press90.txt')
open(200,file="pipe2-press(100).txt")
open(210,file="pipel-T1.txt')
open(220,file="pipel-T10.txt')
open(230,file="pipel-T20.txt")
open(240,file="pipel-T30.txt")
open(250,file="pipel-T50.txt')
open(260,file="pipe2-T(50+1).txt')
open(270,file="pipe2-T70.txt')
open(280,file="pipe2-T80.txt')
open(290,file='T90.txt')
open(300,file='T(100).txt')

do j=1,q

P(j,1)=PO

m(j,1)=0.0

T(j,1)=Tsur

T(j,2)=Tsur

end do
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P(1,2)=P0

A1=0.31506; A2=-1.0467, A3=-0.5783; A4=0.5353;

Tc=190.4; Pc=4.6e6

doi=1,r !===time loop==========

if (i*dt.le.20.) then

P(qg,2)=P0

m(q,2)=0.0

T(1,2)=300

else if (i*dt.le.2200.and.i*dt.ge.20.) then
m(q,2)=mass

p(g,2)=Pout

T(1,2)=330

else if (i*dt.ge.2200.and.i*dt.le.2212) then
m(q/2,2)=12*mass/16

T(1,2)=330

p(1,2)=p0

p(g,2)=Pout

goto 100

else if (i*dt.ge.2212.and.i*dt.le.2218) then
m(qg/2,2)=10*mass/16

T(1,2)=330

p(1,2)=p0

p(qg,2)=Pout

goto 100

else if (i*dt.ge.2218.and.i*dt.le.2224) then

\VY
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m(q/2,2)=8*mass/16

T(1,2)=330

p(1,2)=p0

p(g,2)=Pout

goto 100

else if (i*dt.ge.2224.and.i*dt.le.2230) then
m(q/2,2)=7*mass/16

T(1,2)=330

p(1,2)=p0

p(g,2)=Pout

goto 100

else if (i*dt.ge.2230.and.i*dt.le.2236) then
m(qg/2,2)=6*mass/16

T(1,2)=330

p(1,2)=p0

p(qg,2)=Pout

goto 100

else if (i*dt.ge.2236.and.i*dt.le.2242) then
m(q/2,2)=5*mass/16

T(1,2)=330

p(1,2)=p0

p(qg,2)=Pout

goto 100

else if (i*dt.ge.1242.and.i*dt.le.1248) then
m(q/2,2)=4.5*mass/16

T(1,2)=330

\YA



p(1,2)=p0

p(g,2)=Pout

goto 100

else if (i*dt.ge.2248.and.i*dt.le.2254) then
m(g/2,2)=3*mass/16

T(1,2)=330

p(1,2)=p0

p(qg,2)=Pout

goto 100

else if (i*dt.ge.2254.and.i*dt.le.2260) then
m(q/2,2)=2*mass/16

T(1,2)=330

p(1,2)=p0

p(g,2)=Pout

goto 100

else if (i*dt.le.3800.and.i*dt.ge.2260.) then
m(q/2,2)=mass/36.

T(1,2)=330

p(1,2)=p0

p(g,2)=Pout

goto 100

else

m(g,2)=mass

p(g,2)=Pout

T(1,2)=330

end if

m(g,2)=mass

Yva



doj=2,q

P(j,2)=P(j,1)

end do

s=0

do

s=s+1

do j=g-1,1,-1
1222727777777777277777777772777777277777777772772777777277227777777772

Z(j)=1.

Pr=p(j,2)/Pc
Tr=T(j,2)/Tc
do

znew=Z(j)-
(Z(j)**3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*Z(j)/(Tr*
*2.)+A6*0.019683*(Pr**3.)/(Tr**6.)-2(j)**4.) /(-
4.%(Z(j)**3.)+3.%(Z(j)**2.)+2. ¥ (A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729*(Pr
**2.)/(Tr¥*2.))

! write(*,*)znew
! pause
if (abs(znew-Z(j)).le.0.001) then
Z(j)=znew
exit
else
Z(j)=znew
end if
end do
c=sqrt(Z(j)*R*T(j,2))

1222222222222722227227772277272272772722227222222272222222222222222222
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fO=(c**2)*(T(j+1,2)-T(j,2))/(dx*(T(j+1,2)+T(j,2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=F*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp* (T(j+1,1)+T(j, 1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

end do

doj=1,9-1

20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
z1=((c**2)*(m(j+1,2)+m(},2))**2)*(T(j+1,1)-T(j,1))/(dx*(T(j+1,2)+T(j,1)))
22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(+1,2)+T(j,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(}, 1))
z4=(f*c**2./(4.%d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(},1))**2))

AA=1/dx-z6

BB=2z0-z2+23+25

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+24+(25*p(j,2))+(26*(p(j,2)**2))

delta=BB**2.-4.*AA*CC
PP(j+1)=(-BB+sqrt(delta))/(2.*AA)
end do

sum=0.0

dov=2,q

sum=sum-+abs(P(v,2)-PP(v))

end do

write(*,*)i*dt,'sum=', sum

if (sum.le.200) then

VAN



P1=P(q,2)

! write(*,*) P1

! pause
exit

else

dov=2,q

P(v,2)=PP(v)
end do
end if
end do
m(q,2)=mass/2
10 do j=2,q
P(j,2)=P(j,1)
end do
s=0
do
s=s+1
doj=q-1,1,-1
f0=(c**2)*(T(j+1,2)-T(j,2))/(dx*(T(j+1,2)+T(j,2)))
f1= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=f*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp*(T(j+1,1)+T(j,1)) *d*((P(j+1,1)+
P(i,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(},2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

! write(*,*)j,m(j,2)
end do
do j=1,9-1

z0=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
YAY



z1=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(j,1))/(dx*(T(j+1,2)+T(j, 1))
22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(j,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(j, 1))
z4=(f*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j, 1)) **2))

AA=1/dx-z6

BB=z0-z2+z3+25

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+24+(z5*p(j,2))+(26*(p(j,2)**2))

delta=BB**2.-4.*AA*CC
PP(j+1)=(-BB+sqgrt(delta))/(2.*AA)
! write(*,*)j+1,q,PP(j+1),delta
end do
sum=0.0
dov=2,q
sum=sum-+abs(P(v,2)-PP(v))
end do
write(*,*)i*dt,'sum=', sum
if (sum.le.200) then
if (abs(P(qg,2)-Pout).le.50) then
exit
else
m(q,2)=(Pout-P1)*(m(q,2)-mass)/(P(q,2)-P1)+mass
! write(*,*)m(q,2),P(q,2)
! pause

goto 10

VAY



end if
else
dov=2,q
P(v,2)=PP(v)
end do
end if

end do

ITTTTTTTIT T T T I I I IO T T I T I I T I T T I T T T T I T T T O T T T I O T T I T I T T I I T I I T I T T I T I I I T TTTTTTTT
do ii=1,g-1

j0=2*(c**4)* (m(ii+1,2)-m(ii,2))/(Cp*(p(ii+1,2)+p(ii,2)) *dx)

j1=2%(c**4)* (m(ii+1,2)+m(ii, 2))*(p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2))**2)*dx)

j2=(C**2)* (m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2))*dx)

j3=2%(c**4)*(m(ii+1,2)+m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2)) *dx)

jA=8*(c**2)*h* (Tsur-((T(ii, 1)+ T(ii+1,1))/2))/(Cp* (p(ii+1,2)+p(ii,2))*3.14*d*d)
j5=(c**6)*f*((m(ii+1,2)+m(ii,2))**2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2))**3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+jO-j1+j3-j5-j4)

CCC=(T(ii,2)*(T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+jO*T(ii,2)-j1 *T(ii,2)-j2* (T(ii,2) **2)-j3 *T(ii,2)-
J5*T(ii,2)-j4*T(ii,2)

ddIta=BBB**2.-4. *AAA*CCC
T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)
IT(ii+1,2)=((-(T(i§,2)-T(ii+1,1)-T(ii,1))/(2* dt) -} 0+]1+0*T(ii,2)+j4+j5)/((1/(2*dt))+0)
end do
goto 1000
100 do j=2,0/2
P(j,2)=P(j,1)

end do

\AY



Is=0

do

Is=s+1

Iwrite(*,*)s
doj=q/2-1,1,-1

Pr=p(j,2)/Pc

z(j)=1

Tr=T(j,2)/Tc
do
! goto 10
Pr=p(j,2)/Pc
Tr=T(j,2)/Tc

znew=Z(j)-
(Z(j)**3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*Z(j)/(Tr*
*2.)+A6*0.019683*(Pr**3.)/(Tr**6.)-2(j)**4.) /(-
4.%(Z(j)**3.)+3.*%(Z(j)**2.)+2.*(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729*(Pr
*%2.)/(Tr**2.))

! write(*,*)znew
! pause
if (abs(znew-Z(j)).le.0.001) then
Z(j)=znew
exit
else
Z(j)=znew
end if
end do

! write(*,*)
2%*3 +(AL1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(z**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*z/(Tr**2.)+A6
*0.019683*(Pr**3.)/(Tr**6.)-z**4.

VAL



! pause
c=sqgrt(znew*R0O*T(j,2))

PEEREEEEEE e e e e e e e el

fO=(c**2)*(T(j+1,2)-T(},2))/(dx*(T(j+1,2)+T(j,2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=F*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp* (T(j+1,1)+T(j, 1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

! write(*,*)i*dt,m(j,2), P(j,2)
! pause
end do
Iwrite(*,*)i
! pause
! write (*,*) m(q,2)
do j=1,g/2-1
! x=P(j+1,1)
! do 0=1,100
! PP(J+1)=x- ((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)+(x-

P(j,2))/dx+(f*c**2./(4*d))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/ (x+P(j,2)))/(1./dx-
(f*c**2./(4.*D))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2)) **2.)

! write(*,*)j,P(j,2)
! pause

! P(J+1,2)=-dx*((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/2.*dt+P(j,2)/dx-
(f¥c**2./4*d)*(m(j+1,2)+m(j,2))*abs(m(j+1,2)-m(j,2))/(x+P(j,2)))

z0=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
21=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(j,1))/(dx*(T(j+1,1)+T(j,1)))
22=(m(j+1,2)+m(j,2))/(2*dt)

23=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(j,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(j, 1))

\Af



z4=(f*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j, 1)) **2))
AA=1/dx-z6
BB=z0-z2+z3+25

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+24+(z5*p(j,2))+(26*(p(j,2)**2))

delta=BB**2.-4.*AA*CC

PP(j+1)=(-BB+sqgrt(delta))/(2.*AA)

! if (PP(j+1)<0) then
! PP(j+1)=(-BB-sqrt(delta))/2.*AA

! end if

if (P(j+1,2)<0) then

P(j+1,2)=(-BB-sqrt(delta))/2.*AA

end if
! write(*,*);,P(j,2)

! pause

I write(*,*)i*dt,o,j, abs(PP(j+1)-x)
! if (abs(PP(j+1)-x)<=1) then

! exit

! else

! x=PP(j+1)

! end if

! end do

I write(*,*)i*dt,j,P(j,2)

VAY



end do

llpause
sum=0.0
do v=2,q/2
sum=sum-+abs((P(v,2)-PP(v))/q)
end do
write(*,*)i*dt,'sum=", sum
llpause
if (sum.le.0.5) then
exit
else
do v=2,q/2
P(v,2)=PP(v)
end do
end if
end do
do ii=1,q/2-1

h=200
jO=2*(c**4)* (m(ii+1,2)-m(ii,2))/(Cp*(p(ii+1,2)+plii,2)) *dx)
j1=2*(c**4)*(m(ii+1,2)+m(ii,2))*(p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2))**2) *dx)
j2=(C**2)*(m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2)) *dx)
j3=2*(c**4)*(m(ii+1,2)+m(ii,2))/(Cp*(p(ii+1,2)+p(ii,2))*dx)
jA=8*(c**2)*h*(Tsur-((T(ii,1)+T(ii+1,1))/2))/(Cp*(p(ii+1,2)+p(ii,2)) *3.14*d*d)
j5=(c**6)*F* ((m(ii+1,2)+m(ii,2))**2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2)) **3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+j0-j1+j3-j5-j4)

YAA



CCC=(T(ii, 2)* (T(ii,2)-T(ii+1,1)-T(ii, 1))/(2*dt) +j0*T(ii, 2)- 1*T(ii, 2)-j2* (T(ii, 2) **2)-j3*T(ii,2)-
J5*T(ii,2)-j4*T(ii,2)

ddlta=BBB**2.-4.*AAA*CCC
T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)

! if (T(ii+1,2)<0) then

! T(ii+1,2)=(-BB-sqrt(delta))/2.*AA

! end if

Hpipe
do
s=s+1
Iwrite(*,*)s
m(q/2+1,2)=m(q/2,2)
do j=q/2+1,9-1,1
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Pr=p(j,2)/Pc
2(j)=1
Tr=T(j,2)/Tc
do
! goto 10
Pr=p(j,2)/Pc
Tr=T(j,2)/Tc

znew=Z(j)-
(Z(j)**3.4+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*Z(j)/(Tr*
*2.)+A6*0.019683*(Pr**3.)/(Tr**6.)-2(j)**4.) /(-
4.*(Z(j)**3.)+3.%(Z(j)**2.)+2. ¥ (A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729*(Pr
*¥*2.)/(Tr¥*2.))

! write(*,*)znew

VA4



! pause
if (abs(znew-Z(j)).1e.0.001) then
Z(j)=znew
exit
else
Z(j)=znew
end if
end do

! write(*,*)
2¥*3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(z**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*z/(Tr**2.)+A6
*0.019683*(Pr**3.)/(Tr**6.)-z**4.

! pause

c=sqgrt(znew*R0O*T(j,2))
12222222272772777772772772777777777727777777777777727727777777777722777722772772222227222227222777
fO=(c**2)*(T(j+1,2)-T(j,2))/ (dx*(T(j+1,2)+T(},2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=f*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp*(T(j+1,1)+T(j,1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j+1,2)=(f1+f2-(P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))-((fO-
((c**2)/dx))*m(j,2)))/(((c**2)/dx)+f0)

! write(*,*)i*dt,m(j,2), P(j,2)

! pause

Immmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm
end do

! pause

! write (*,*) m(q,2)

'pPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP

do j=g-1,9/2+1,-1
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! x=P(j+1,1)
! do 0=1,100

! PP(J+1)=x- ((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)+(x-
P(j,2))/dx+(f*c**2./(4*d))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2)))/(1./dx-
(f*c**2./(4.*D))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2)) **2.)

! write(*,*)j,P(j,2)
! pause

! P(J+1,2)=-dx*((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/2.*dt+P(j,2)/dx-
(f*c**2./4*d)*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)-m(j,2))/(x+P(j,2)))

20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
z1=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(j,1))/(dx*(T(j+1,2)+T(j,1)))
22=(m(j+1,2)+m(j,2))/(2*dt)
z3=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(j,2)-T(j+1,1)-T(},1))/(2*dt*(T(j+1,1)+T(j, 1))
z4=(f*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j, 1)) **2))

AA=-1/dx+z6

BB=z3+z0-z2+25

CC=((z0-z2+23+25)*p(j+1,2))+z1-(z2*(-p(j+1,1)-p(j,1)))+z4+(((1/dx)-
26)*(p(j+1,2)**2))

delta=BB**2.-4.*AA*CC
PP(j)=(-BB-sqgrt(delta))/(2.*AA)
! if (P(j+1,2)<0) then
! P(j+1,2)=(-BB-sqrt(delta))/2.*AA
! end if
! write(*,*)j,P(j,2)
! pause

I write(*,*)i*dt,o0,j, abs(PP(j+1)-x)

1)



! if (abs(PP(j+1)-x)<=1) then
! exit
! else
! x=PP(j+1)
! end if
! end do
I write(*,*)i*dt,j,P(j,2)
'pPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP
end do
Ilpause
sum=0.0
do v=g-1,9/2+1,-1
sum=sum+abs(P(v,2)-PP(v))
end do
write(*,*)i*dt,'sum=', sum
Ilpause
if (sum.le.500) then
exit
else
dov=g-1,9/2+1,-1
P(v,2)=PP(v)
end do
end if

end do

ITTTTTTTTIT T I T T T T I I T I I I I T I T I I I T I I I I 0T T I T I I T T I I T I T T T I T I I I I 0T I TT I TTI I T T T T TTTTTTT
T(a/2+1,2)=T(a/2,2)
Tsur=300

\ay



h=300

do ii=q/2+1,9-1

jO=2*(c**4)*(m(ii+1,2)-m(ii,2))/(Cp*(p(ii+1,2)+p(ii,2)) *dx)

j1=2%(c**4)*(m(ii+1,2)+m(ii,2)) *(p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2)) **2) *dx)
j2=(C**2)*(m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2)) *dx)
j3=2*(c**4)*(m(ii+1,2)+m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2)) *dx)
j4=8*(c**2)*h* (Tsur-((T(ii, 1)+ T(ii+1,1))/2))/(Co*(p(ii+1,2)+p(ii,2))*3.14*d*d)
j5=(c**6)*f*((m(ii+1,2)+m(ii,2)) **2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2)) **3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+j0-j1+j3-5-4)

CCC=(T(ii,2)* (T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt)+jO*T(ii, 2)-]1*T(ii,2)-2* (T(ii, 2) **2)-3*T(ii, 2)-
i5*T(ii,2)-j4*T(ii,2)

ddita=BBB**2.-4.* AAA*CCC
T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)
IT(ii+1,2)=((-(T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))-jO+j1+0*T(ii,2)+j4+j5)/((1/(2*dt))+0)
end do
1000 dov=1,q
P(v,1)=P(v,2)
m(v,1)=m(v,2)
T(v,1)=T(v,2)
end do
write(10,*)i*dt, m(1,2)*3600*A/density
write(20,*) m(q/10,2)*3600*A/density
write(30,*) m(3*g/10,2)*3600*A/density
write(40,*) m(4*9/10,2)*3600*A/density
write(50,*) m(q/2,2)*3600*A/density

write(60,*)i*dt, p(1,2)/(10**6)

\ay



write(70,*) p(q/10,2)/(10**6)

write(80,*) p(3*q/10,2)/(10**6)
write(90,*) p(4*q/10,2)/(10**6)
write(100,*) p(a/2,2)/(10**6)
write(110,*)i*dt, m(qg/2+1,2)*3600*A/density
write(120,*) m(6*q/10,2)*3600*A/density
write(130,*) m(7*q/10,2)*3600*A/density
write(140,*) m(8*q/10,2)*3600*A/density
write(150,*) m(q,2)*3600*A/density
write(160,*)i*dt, p(q/2+1,2)/(10**6)
write(170,*) p(6*q/10,2)/(10**6)
write(180,*) p(7*q/10,2)/(10**6)
write(190,*) p(8*q/10,2)/(10**6)
write(200,*) p(q,2)/(10**6)
write(210,*)i*dt, T(1,2)

write(220,*) T(q/10,2)

write(230,*) T(3*q/10,2)

write(240,*) T(4*q/10,2)

write(250,*) T(g/2,2)

write(260,*)i*dt, T(q/2+10,2)

write(270,*) T(6*q/10,2)

write(280,*) T(7*q/10,2)

write(290,*) T(8*q/10,2)

write(300,*) T(q,2)

end do

end program javad
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program javad
implicit none

real::dt,dx,sum,c,mass,d,L,PO,F,time,x,AA,BB,CC,delta,A,Pout,P1,density,initmass,f0,f1,f2,h,z0,z
1,22,23,24,25,26,j0,j1,j2,j3,j4,j5,mf_new

real::A1,A2,A3,A4,A5,A6,Pr,Tr,Pc,Tc,Znew,AAA,BBB,CCC,ddIta, TO,RO
integer::i,j,k,q,r,s,v,0,branch,xcomp,sign,ii
real,allocatable::m(:,:),p(:,:),PP(:),Z(:),T(:,:)

real::etaisen,etamech,etadr,qq,nn,sigma,lhv,head,head_new,md,td,mf,power,delta2,b1,b2,b3,
b4,b5,b6,pd,Cp,Tsur,Poutlet

Cp=2254
Tsur=300

h=50

d=0.5

A=3.14*d**2./4.

L=10000

P0=6.05e6

Poutlet=5.8e6

R0O=518.3

IT0=300

f=0.008

dt=20

dx=20.

g=L/dx

r=2400./dt

density=0.648 |PO/R*T
Initmass=300000*density/(3600.*A)
1c=348.5 Isqrt(1.*R*T)

allocate(m(1:q,1:2),p(1:q,1:2),pp(1:q9),Z(1:q),T(1:9,1:2))
ARYA



open(10,file="pipel-mass-flowl.txt')
open(20,file="pipel-mass-flow10.txt')
open(30,file="pipel-mass-flow20.txt')
open(40,file="pipel-mass-flow30.txt')
open(50,file="pipel-mass-flow50.txt')
open(60,file="'pipel-pressl.txt')
open(70,file="pipel-press10.txt’)
open(80,file="pipel-press20.txt')
open(90,file="pipel-press30.txt')
open(100,file="pipel-press(50).txt')
open(110,file="pipe2-mass-flow(50+1).txt')
open(120,file="pipe2-mass-flow70.txt")
open(130,file="pipe2-mass-flow80.txt")
open(140,file="pipe2-mass-flow90.txt")
open(150,file="pipe2-mass-flow(100).txt')
open(160,file="pipe2-press(50+1).txt")
open(170,file="pipe2-press70.txt')
open(180,file="pipe2-press80.txt')
open(190,file="pipe2-press90.txt')
open(200,file="pipe2-press(100).txt')
open(210,file="pipel-T1.txt')
open(220,file="pipel-T10.txt')
open(230,file="pipel-T20.txt')
open(240,file="pipel-T30.txt')
open(250,file="pipel-T49.txt')
open(260,file="T50.txt')
open(270,file='T70.txt')
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open(280,file="T80.txt')
open(290,file="T90.txt')
open(300,file='T100.txt')
doj=1,q

P(j,1)=PO

m(j,1)=0.0

T(j,1)=Tsur

T(j,2)=Tsur

end do

P(1,2)=PO

A1=0.31506; A2=-1.0467; A3=-0.5783;  A4=0.5353;
Tc=190.4; Pc=4.6e6
doi=1,r I===time loop==========
if (i*dt.le.100.) then
Pout=PO0

mass=0.0

T(1,2)=300

sign=0

else

p(q/2,2)=6.05e6
mass=initmass
Pout=Poutlet
T(1,2)=330

end if

m(g,2)=mass

do j=2,q

P(j,2)=P(j,1)

\ay

A5=-0.6123;

A6=0.6895



end do
s=0
do
s=s+1
do j=g-1,9/2,-1
1222222272227277777777277277777777777727772727277727272722272727272772
Z(j)=1.
Pr=p(j,2)/Pc
Tr=T(j,2)/Tc
do

znew=Z(j)-
(Z(j)**3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*Z(j)/(Tr*
*2.)+A6*0.019683*(Pr**3.)/(Tr**6.)-2(j)**4.) /(-
4.%(Z(j)**3.)+3.%(Z(j)**2.)+2. ¥ (A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729*(Pr
**2.)/(Tr¥*2.))

! write(*,*)znew
! pause
if (abs(znew-Z(j)).le.0.001) then
Z(j)=znew
exit
else
Z(j)=znew
end if
end do
c=sqrt(Z(j)*R*T(j,2))
1222227277777277277277777277777777772777777777777772777777777777777772
fO=(c**2)*(T(j+1,2)-T(j,2))/(dx*(T(j+1,2)+T(},2)))

fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

YaA



f2=F*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp* (T(j+1,1)+T(j, 1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

end do
do j=q/2,9-1
20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
z1=((c**2)*(m(j+1,2)+m(},2))**2)*(T(j+1,1)-T(j,1))/(dx* (T(j+1,2)+T(j,1)))
22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(+1,2)+T(j,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(j, 1))
z4=(f*c**2./(4.%d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(},1))**2)/(dx*((p(j+1,1)+P(},1))**2))
AA=1/dx-z6
BB=z0-z2+z3+25

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+24+(25*p(j,2))+(26*(p(j,2)**2))

delta=BB**2.-4.*AA*CC
PP(j+1)=(-BB+sqrt(delta))/(2.*AA)
end do

sum=0.0

do v=q/2+1,q9

sum=sum-+abs(P(v,2)-PP(v))

end do

write(*,*)i*dt,'sum=', sum

if (sum.le.200) then

P1=P(q,2)

! write(*,*) P1
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! pause
exit
else
do v=qg/2+1,q
P(v,2)=PP(v)
end do
end if
end do
Igoto 100
m(q,2)=mass/2
10 do j=q/2+1,q
P(j,2)=P(j,1)
end do
s=0
do
s=s+1
doj=g-1,9/2,-1
f0=(c**2)*(T(j+1,2)-T(j,2))/(dx*(T(j+1,2)+T(j,2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=f*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp*(T(j+1,1)+T(j,1)) *d*((P(j+1,1)+
P(i,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(},2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

! write(*,*)j,m(j,2)
end do
doj=q/2,9-1
20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)

z1=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(},1))/(dx*(T(j+1,1)+T(}, 1))
Y..



22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(j,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(j, 1))
z4=(f*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))

26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j, 1)) **2))

AA=1/dx-z6
BB=z0-z2+z3+z5

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+z4+(z5*p(},2))+(26* (p(j,2)**2))

delta=BB**2.-4.*AA*CC
PP(j+1)=(-BB+sqgrt(delta))/(2.*AA)
! write(*,*)j+1,q,PP(j+1),delta
end do
sum=0.0
do v=qg/2+1,q
sum=sum-+abs(P(v,2)-PP(v))
end do
write(*,*)i*dt,'sum=', sum
if (sum.le.200) then
if (abs(P(qg,2)-Pout).le.20) then
! Pout=Pout+m(q,2)*A*R*T*dt/V2
exit
else
m(q,2)=(Pout-P1)*(m(q,2)-mass)/(P(qg,2)-P1)+mass

I write(*,*)m(q,2),P(q,2)



! pause
goto 10
end if
else
do v=qg/2+1,q
P(v,2)=PP(v)
end do
end if

end do
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do j=2,9/2
P(j,2)=P(j,1)

end do

pipe TTTTTTTTITTTITTTITTTITITTIT T I T T I T I IT I T T T I T I T I T T I I IT T T T T T T I T IITTTITTITTTT
T(q/2,2)=316.3

do ii=q/2,q-1

jO=2*(c**4)*(m(ii+1,2)-m(ii,2))/(Cp*(p(ii+1,2)+p(ii,2)) *dx)
j1=2*(c**4)* (m(ii+1,2)+m(ii,2)) *(p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2)) **2) *dx)
j2=(C**2)*(m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2)) *dx)
j3=2*(c**4)*(m(ii+1,2)+m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2)) *dx)
j4=8*(c**2)*h*(Tsur-((T(ii,1)+T(ii+1,1))/2))/(Cp*(p(ii+1,2)+p(ii,2)) *3.14*d*d)
j5=(c**6)*F*((m(ii+1,2)+m(ii,2))**2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2)) **3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+j0-j1+j3-j5-j4)

CCC=(T(ii, 2)* (T(ii,2)-T(ii+1,1)-T(ii, 1))/(2*dt))+O*T(ii, 2)- 1*T(ii, 2)-j2* (T(ii, 2) **2)-j3*T(ii,2)-
i5*T(ii,2)-j4*T(ii,2)

ddlta=BBB**2.-4.*AAA*CCC

Y.Y



T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)
! if (T(ii+1,2)<0) then
! T(ii+1,2)=(-BB-sqrt(delta))/2.*AA
! end if
IT(ii+1,2)=((-(T(ii,2)-T(ii+1,1)-T(ii, 1))/(2*dt))-O+]1+0*T(ii,2)+4+j5)/((1/(2*dt))+0)

end do

ITTTTTTTII T I I I T T I I IO T IO T T I T T I T I T I I T T I T T I T T I T T I I T T I T I I T T I I T I I T I TT I T T T I I T TTTT
Is=0
do

doj=q/2-2,1,-1
m(a/2-1,2)=m(a/2,2)
Pr=p(j,2)/Pc
2(j)=1

Tr=T(j,2)/Tc

do

Pr=p(j,2)/Pc
Tr=T(j,2)/Tc

znew=Z(j)-
(Z())**3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*Z(j)/(Tr*
*2.)+A6*0.019683* (Pr**3.)/(Tr**6.)-Z(j)**4.) /(-
A.%(Z(j)**3.)+3.%(Z(j)**2.)+2. ¥ (A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729*(Pr
*¥*2.)/(Tr**2.))

if (abs(znew-Z(j)).le.0.001) then
Z(j)=znew

exit

else

Z(j)=znew

end if

Y.y



end do
c=sqgrt(znew*R0O*T(j,2))

TEREEEEE e e e e e e e e e e e e et

fO=(c**2)*(T(j+1,2)-T(},2))/(dx*(T(j+1,2)+T(j,2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=F*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp* (T(j+1,1)+T(j, 1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j,2)=(((((c**2)/dx)+f0)*m(j+1,2))+((P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))/(2.*dt))-f1-
f2)/(((c**2)/dx)-f0)

end do
do j=1,q/2-2
20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)
z1=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(j, 1))/ (dx*(T(j+1,1)+T(j, 1))
22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(j,2)-T(j+1,1)-T(j, 1))/ (2*dt*(T(j+1,1)+T(j,1)))
z4=(f*c**2./(4.*d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j,1)))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j,1))**2))
AA=1/dx-26
BB=20-22+23+75

CC=20*p(j,2)+21-(22*(p(j,2)-p(j+1,1)-p(j,1)))+23*p(j,2)-
((p(j,2)**2)/dx)+24+(z5*p(j,2))+(26*(p(j,2)**2))

delta=BB**2.-4.*AA*CC
PP(j+1)=(-BB+sqrt(delta))/(2.*AA)
end do

Ilpause

sum=0.0

dov=2,q/2-1

Yof



sum=sum+abs(P(v,2)-PP(v))

end do

write(*,*)i*dt,'sum=", sum

llpause

if (sum.le.200) then

exit

else

do v=2,q/2-1

P(v,2)=PP(v)

end do

end if

end do

do ii=1,q/2-2

jO=2*(c**4)*(m(ii+1,2)-m(ii,2))/(Cp*(p(ii+1,2)+p(ii,2)) *dx)
j1=2%(c**4)*(m(ii+1,2)+m(ii,2)) * (p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2)) **2) *dx)
j2=(C**2)*(m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2)) *dx)
j3=2*(c**4)*(m(ii+1,2)+m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2)) *dx)

j4=8%(c**2)*h* (Tsur-((T(ii, 1)+ T(ii+1,1))/2))/(Cp*(p(ii+1,2)+p(ii,2))*3.14*d*d)
j5=(c**6)*F*((m(ii+1,2)+m(ii,2)) **2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2)) **3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+j0-j1+j3-j5-4)

CCC=(T(ii,2)*(T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+jO*T(ii,2)-j1 *T(ii,2)-j2* (T(ii,2) **2)-j3*T(ii,2)-
J5*T(ii,2)-j4*T(ii,2)

ddlta=BBB**2.-4. *AAA*CCC
T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)
! if (T(ii+1,2)<0) then

! T(ii+1,2)=(-BB-sqrt(delta))/2.*AA
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! end if
IT(ii+1,2)=((-(T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))-jO+j1+0*T(ii,2)+j4+j5)/((1/(2 *dt))+0)
end do

goto 1000

1000 do v=1,q

P(v,1)=P(v,2)

m(v,1)=m(v,2)

T(v,1)=T(v,2)

end do

write(10,*)i*dt, m(1,2)*3600*A/density
write(20,*) m(qg/10,2)*3600*A/density
write(30,*) m(3*g/10,2)*3600*A/density
write(40,*) m(4*g/10,2)*3600*A/density
write(50,*) m(qg/2,2)*3600*A/density
write(60,*)i*dt, p(1,2)/(10**6)

write(70,*) p(a/10,2)/(10**6)

write(80,*) p(3*q/10,2)/(10**6)
write(90,*) p(4*q/10,2)/(10**6)
write(100,*) p(q/2,2)/(10**6)
write(110,*)i*dt, m(g/2+1,2)*3600*A/density
write(120,*) m(6*q/10,2)*3600*A/density
write(130,*) m(7*q/10,2)*3600*A/density
write(140,*) m(8*q/10,2)*3600*A/density
write(150,*) m(g,2)*3600*A/density
write(160,*)i*dt, p(q/2+1,2)/(10**6)
write(170,*) p(6*q/10,2)/(10**6)
write(180,*) p(7*q/10,2)/(10**6)
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write(190,*) p(8*q/10,2)/(10**6)
write(200,*) p(qg,2)/(10**6)
write(210,*)i*dt, T(1,2)
write(220,*) T(g/10,2)
write(230,*) T(3*q/10,2)
write(240,*) T(4*q/10,2)
write(250,*) T(q/2-1,2)
write(260,*)i*dt, T(q/2+20,2)
write(270,*) T(6*q/10,2)
write(280,*) T(7*q/10,2)
write(290,*) T(8*q/10,2)
write(300,*) T(q,2)

end do

end program javad
S o

program javad
implicit none

real::dt,dx,sum,c,mass,d,L,P0,TO,time,x,AA,BB,CC,delta,A,Pout,P1,density,initmass,Cp,AAA,BBB
,CCC,ddlIta,f0,f1,f2,20,21,22,23,24,25,26,znew,mf_new

real::A1,A2,A3,A4,A5,A6,Pr,Tr,Pc,Tc,f,j0,j1,j2,j3,j4,j5,Tsur,h,R0,sign,Pd,mf, head,etamech,etadr,
etaisen,sigma,lhv,power,NN,QQ,head_new,b1,b2,b3,b4,b5,b6,delta2,md,Td

real::WO0,W1,wW2,W3,W4,W5W6,W7,W8,W9,W10,W11,W12,W13,W14,W15,7Zarib1,zarib2,Re,
mio

integer::i,j,k,q,r,s,v,0,branch,xcomp,ii
real,allocatable::m(:,:),p(:,:),PP(:),T(:,:),z(:)
Cp=2254

d=0.762

A=3.14*d**2./A.
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L=5000
Pout=4.44e6
h=35
R0O=518.3
T0=284
f=0.008
dt=5.

dx=10
g=L/dx
r=3800./dt
density=0.648 |PO/R*T

mass=30%((16.8/4)*1000000 *0.648*4)/(60*35.3147*3.14*d*d*24*60)
1(300000*density/(3600.*A))

Al1=0.31506; A2=-1.0467; A3=-0.5783; A4=0.5353; A5=-0.6123;  A6=0.6895
Tc=185.4
Pc=4.1e6
Tsur=284
W0=-2.46211820
W1=2.9705714
W2=-0.286246056
W3=0.00805420
W4=2.80860949
W5=-3.49803305
W6=0.3603702
W7=-0.1044324
W8=-0.79338568

W9=1.39643306
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W10=-0.149144193
W11=0.00441016
W12=0.08393872
W13=-0.186408852
W14=0.02033679
W15=-0.00060958

zarib1=02118

zarib2=0.1461
allocate(m(1:q,1:2),p(1:9,1:2),pp(1:9),t(1:9,1:2),z(1:q))
open(10,file='inlet-mass-flow.txt')
open(30,file="outlet-mass-flow.txt')
open(20,file="pressureout.txt')
open(70,file="Tempures out.txt')
open(80,file='z out.txt')
open(90,file="mf.txt")
open(100,file="head.txt')
open(110,file="N.txt')
open(120,file='eta.txt")
open(130,file='qq.txt")
open(140,file="td.txt')
open(300,file="headd.txt')
open(310,file="'mf-new.txt')

do j=q,1,-1

P(j,1)=Pout

m(j,1)=0.0

T(j,1)=Tsur

T(j,2)=Tsur
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Pr=p(j,1)/Pc
Tr=T(j,1)/Tc
end do

P(qg,2)=Pout

mio=wO+W I*Pr+W2*(Pr**2)+Tr*(W4+W5*Pr+W6™(Pr**2)+(Tr**2)*(W8*+W9*Pr+W10*(Pr**
2)+&

W11*(Pr**3))+(Tr**3)*(W12*+W13*Pr+W14*(Pr**2)+W15*(Pr**3))

do j=q,1,-1

Re=m(j,1)*d/mio

end do

doi=1,r

Iwrite(*,*) i*dt

if (i*dt.le.0) then

m(1,2)=0.0

T(1,2)=Tsur

sign=0

else if (i*dt.ge.0.and.i*dt.le.3800) then
m(1,2)=mass

T(1,2)=325

sign=1

else
m(1,2)=0.0

IT(1,2)=325

sign=0

end if

doj=q,1,-1
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P(j,2)=P(j,1)
end do
s=0
do
s=s+1
Iwrite(*,*)s
doj=1,9-1,1
12222222722272777777772772772777777777277727277777277727227727272727722272272222222272227222222272
Pr=p(j,2)/Pc
z(j)=1
Tr=T(j,2)/Tc
do
! goto 10
Pr=p(j,2)/Pc
Tr=T(j,2)/Tc

znew=Z(j)-
(Z())**3.+(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(Z(j)**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)&

*Z(j)/(Tr**2.)+A6*0.019683*(Pr**3.)/(Tr**6.)-Z(j)**4.) /(-
A4.*(Z(j)**3.)+3.%(Z(j)**2.)+&

2.%(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*Z(j)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)/(Tr**2.))
! write(*,*)znew
! pause

if (abs(znew-Z(j)).le.0.001) then

Z(j)=znew

exit

else

Z(j)=znew

end if
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end do

! write(*,*)
Z¥*3 +(A1+A2/Tr+A3/(Tr**3.))*0.27*Pr*(z**2.)/Tr+(A4+A5/Tr)*0.0729* (Pr**2.)*z/(Tr**2.)+A6
*0.019683*(Pr**3.)/(Tr**6.)-2**4.

! pause

c=sqrt(znew*R0O*T(j,2))
12222222272772772772272777777777772777727727777777777777272777772772772222222222222227222222222277
if (re<2100) then
f=64./re
else
f=zarib1*(Re**-zarib2)
if (re>2100) then
else
Immmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm
fO=(c**2)*(T(j+1,2)-T(j,2))/ (dx*(T(j+1,2)+T(},2)))
fl= 8*(C**2)*h*(Tsur-((T(j,1)+T(j+1,1))/2))/(Cp*(3.14)*d*d*(T(j+1,2)+T(j,2)))

f2=f*(c**6)*((m(j+1,1)+m(j,1))**2)*abs(m(j+1,1)+m(j,1))/(2*cp*(T(j+1,1)+T(j,1)) *d*((P(j+1,1)+
P(j,1))**2))

m(j+1,2)=(f1+f2-(P(j+1,2)+P(j,2)-P(j+1,1)-P(j,1))-((fO-
((c**2)/dx))*m(j,2)))/(((c**2)/dx)+f0)

! write(*,*)i*dt,m(j,2), P(j,2)

! pause

Immmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmmm
end do

if (re<2100) then

f=64./re
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else
f=zarib1*(Re**-zarib2)
if (re>2100) then
else
lPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP
do j=g-1,1,-1
! x=P(j+1,1)
! do 0=1,100
! PP(J+1)=x- ((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)+(x-P(j,2))/dx+&

(F*c**2./(4%d))*(m(j+1,2)+m(j,2)) *abs(m(j+1,2)+m(j,2))/(x+P(j,2)))/(1./dx-
(FAc**2./(4.*D))*(m(j+1,2)+&

! m(j,2))*abs(m(j+1,2)+m(j,2))/(x+P(j,2))**2.)
! write(*,*)j,P(j,2)

! pause

! P(I+1,2)=-dx*((m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/2.*dt+P(j,2)/dx-
(F*c**2./4%d)*(m(j+1,2)+

1&m(j,2))*abs(m(j+1,2)-m(j,2))/ (x+P(},2)))
20=(m(j+1,2)+m(j,2)-m(j+1,1)-m(j,1))/(2.*dt)

z1=((c**2)*(m(j+1,2)+m(j,2))**2)*(T(j+1,1)-T(j,1))/(dx*(T(j+1,2)+T(j,1)))
22=(m(j+1,2)+m(j,2))/(2*dt)
23=(m(j+1,2)+m(j,2))*(T(j+1,2)+T(,2)-T(j+1,1)-T(}, 1))/ (2*dt*(T(j+1,1)+T(j, 1))
z4=(f*c**2./(4.%d))*(m(j+1,2)+m(j,2))*abs(m(j+1,2)+m(j,2))
25=(c**2)*(m(j+1,1)+m(j,1))*(m(j+1,2)-m(j,2))/(dx*(p(j+1,1)+p(j, 1))
26= (c**2)*((m(j+1,1)+m(j,1))**2)/(dx*((p(j+1,1)+P(j, 1)) **2))

AA=-1/dx+z6

BB=z3+z0-z2+z5
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CC=((z0-z2+z3+25)*p(j+1,2))+z1-(z2*(-p(j+1,1)-p(j,1)))+z4+(((1/dx)-
26)*(p(j+1,2)**2))

delta=BB**2.-4. *AA*CC
PP(j)=(-BB-sqgrt(delta))/(2.*AA)
! if (P(j+1,2)<0) then
! P(j+1,2)=(-BB-sqrt(delta))/2.*AA

! end if

! write(*,*)j,P(j,2)
! pause
I write(*,*)i*dt,o,j, abs(PP(j+1)-x)
! if (abs(PP(j+1)-x)<=1) then
! exit
! else
! x=PP(j+1)
! end if
! end do
I write(*,*)i*dt,j,P(j,2)
'pPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP
end do
Ilpause
sum=0.0
dov=g-1,1,-1
sum=sum-+abs(PP(v)-P(v,2))
end do

write(*,*)i*dt,'sum=', sum
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Ilpause

if (sum.le.1000) then
exit

else

dov=g-1,1,-1
P(v,2)=PP(v)

end do

end if

end do

ITTTTTTTTITTIT T IO T T I I I T I T T I T IO T T I T T I T I I T T I I T T I T I I T I I T I T I T T I TT I T T ITTTI 1117
if (re<2100) then

f=64./re

else

f=zarib1*(Re**-zarib2)

if (re>2100) then

else

do ii=1,g-1

j0=2*(c**4)* (m(ii+1,2)-m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2))*dx)

j1=2%(c**4)* (m(ii+1,2)+m(ii, 2))*(p(ii+1,2)-p(ii,2))/(Cp*((p(ii+1,2)+p(ii,2))**2)*dx)
j2=(C**2)* (m(ii+1,2)+m(ii,2))/((p(ii+1,2)+p(ii,2))*dx)

j3=2%(c**4)*(m(ii+1,2)+m(ii,2))/(Cp* (p(ii+1,2)+p(ii,2)) *dx)
jA=8*(c**2)*h*(Tsur-((T(ii, 1)+ T(ii+1,1))/2))/(Cp* (p(ii+1,2)+p(ii,2))*3.14*d*d)
j5=(c**6)*f*((m(ii+1,2)+m(ii,2))**2)*abs(m(ii+1,2)+m(ii,2))/(2*Cp*((p(ii+1,2)+p(ii,2))**3)*d)
AAA=(1/(2*dt))+j2

BBB=(((2*T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))+j0-1+]3-j5-j4)

CCC=(T(ii,2)* (T(if,2)-T(ii+1,1)-T(ii, 1))/(2*dt))+O*T(ii, 2)- 1*T(ii, 2)-j2*(T(ii, 2) **2)-§3*T(ii, 2)-

i5*T(ii,2)-j4*T(ii,2)
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ddlta=BBB**2.-4.*AAA*CCC
T(ii+1,2)=(-BBB+sqrt(ddlta))/(2.*AAA)
IT(ii+1,2)=((-(T(ii,2)-T(ii+1,1)-T(ii,1))/(2*dt))-j0+j1+0*T{(ii,2)+j4+j5)/((1/(2*dt))+0)

end do

ITTTTTTTII T T I T IO I IO T IO T T I T T I T I T I I T T I T T I T T I T T I I T T I T I I T T I I T I I T I T T I T T T ITITTTTTT
Iwrite(*,*)'ali’

dov=1,q

P(v,1)=P(v,2)

m(v,1)=m(v,2)

T(v,1)=T(v,2)

end do

write(10,*)i*dt, (m(1,2)*3600*3.14*D**2)/(0.648*4)

write(30,*)i*dt, (m(g,2)*3600%3.14*D**2)/(0.648*4)

write(20,*)i*dt, p(qg,2)/10**6.

write(70,*)i*dt, T(q,2)

write(80,*)i*dt, Z(g-1)
ICCCCCCCCCCCreeecccccccccceecceeeccececcceecccecccececccccecccecccceccccececececececececececcecce
etamech=0.98

pd=6.43e6

etadr=0.539

sigma=0.2333

LHV=766010

head=sign*T(q,2)*0.518*z(q-1)*((pd/p(q,2))**sigma-1.)/(sigma)
head_new=sign*head*334.55244

QQ=(35.3147*60.%(m(q,2)/30)*A/((0.648)))

b1=.0004642; b2=0.00002443; b3=-0.0010597; b4=-0.592388;b5=7.799976;b6=-11.50865
delta2=((b2*qq)**2)-4.*b1*((b3*(qq O
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**2.))-head_new)

NN=(-b2*qqg+sqrt(delta2))/(2.*b1)
etaisen=b4+(b5*qq/nn)+b6*((qg/nn)**2)
power=head*m(q,2)*A/(etaisen*etamech)
mf=power/(LHV*etadr)
Td=(T(q,2)+(T(q,2)/etaisen)*(((pd/p(q,2))* *sigma)-1))
md=m(q,2)*A-mf

mf_new=mf* 4.708626667*4
ICCCCCCCCCCCLLeeeccccceecccccceccccececcccccccecccececccccccccccceccececcecececececececececcecce
write(90,*)i*dt, mf

write(100,*)i*dt, head_new

write(110,*) NN

write(120,*)i*dt, etaisen

write(130,*)i*dt, QQ

write(140,*)i*dt, Td

write(300,*)i*dt, head

write(310,*) mf_new

end do

end program javad
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Abstract

With the increase in the consumption of energy sources, natural gas pipelines and
compression stations are also more and more complicated. Due to the length of
pipelines, pressure and gas energy due to friction between the gas and the inner wall of
the tube is lost, to overcome the energy loss in transmission lines, stations will be

installed in the pipe line.

Mathematical modeling is one of the most important tools used to assist the design and
performance studies. In this study transient, compressible, isothermal and non-
isothermal flow modeling equations solution by use implicit finite difference method.
Implicit finite difference method, ensuring stability in the large time steps and this
method for gas industry analyze is very useful. Nonlinear finite difference equations for

pipe, Newton-Raphson method is used.

In this study, the main network, including pipelines, pressure relief valves installed in
stations and gas transmission lines, connecting nodes (nodes combining and dividing)
and station pressure transient model has been. The simulation of gas transport network

is to find conditions for reducing power consumption compressor.

In all equations used in addition to changes in pressure and temperature change rate is
also considered. To validate the results of the comparison results with other scientific

research, as well as the amounts recorded in the Razavi Compressor Station used.
Keywords:

Gas transmission network, implicit finite difference, compressible fluid, non-isothermal

flow, simulation, centrifugal compressors, gas turbines, fuel consumption,



Shahrood University of Technology

Faculty of Mechanical Engineering

Analysis and Optimization of Natural Gas Flow in Gas Pipelines and
Compressor Station

Javad Sodagar Abardeh

Supervisors:

Mahmood Farzaneh Gord

Ali Jabari Moghadam

Thesis Submitted in Partial Fulfillment of the

Requirements for the Degree of Master of Science (M.Sc.)

December 2014



